H. Geometry – Bellwork #36							Date: __________

Complete the statements below:

1.  If a transversal intersects two parallel lines, then corresponding angles are ____________________.

2.  If a transversal intersects two parallel lines, then same-side interior angles are _________________.

3.  If a transversal intersects two parallel lines, then alternate interior angles are __________________.

Use the diagram below to answer questions 4 – 11.  Justify your answers.

[image: ]




4.  If , find .  	 __________		5.  If , find . 	 __________





6.  If , find .  	__________		7.  If , find .	__________





8.  If , find .		__________		9.  If , find .	__________





10.  If , find .	__________		11.  If , find 	__________
[image: ][image: ]
12.								13.  
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The volume of a sphere is given by the formula
4
V= 5 m‘3, where r is the radius of the sphere. Which

of the following gives the radius of the sphere in

terms of the volume of the sphere?

in

A
)3V

B) —

D) 3>
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y=—(x—3)2+a

In the equation above, a is a constant. The graph of
the equation in the xy-plane is a parabola. Which of
the following is true about the parabola?

A) Its minimum occurs at (-3, a).
B) Its minimum occurs at (3, a).

C
D

) Its maximum occurs at (-3, a).
)

Its maximum occurs at (3, a).




image1.png




image2.wmf
°

=

Ð

65

1

m


oleObject1.bin

image3.wmf
5

Ð

m


oleObject2.bin

image4.wmf
°

=

Ð

110

2

m


